
CSC309 Week 2 Polls & Answers  
Q1: What’s the color of Fermi’s cat?  

Gray

Black

Rainbow

Gray and White (right answer)

 

Q2: What should NOT be pushed to git?  
node_modules (right answer)

.env (right answer)

.DS_Store (right answer)

README

This is a multiple choice question, you have to choose all three of them to get the question right.

 

Q3:  
Consider the following code:

const obj = {

    name: "Joyce",
    greet: () => console.log(this.name),
  };

  
  const anotherObj = {

    name: "Suhani",
    greet: obj.greet,
  };

  
  function globalGreet() {

    console.log(this.name);
  }

  
  const boundGreet = obj.greet.bind({ name: "Fermi" });

  
  obj.greet();



 

What are the outputs of the following function calls in order?

1. obj.greet()

2. anotherObj.greet()

3. globalGreet()

4. boundGreet()

 

Options:

Joyce, Suhani, undefined, undefined

undefined, undefined, undefined, Fermi  (right answer)

Joyce, undefined, undefined, Throws a TypeError

undefined, Throws a TypeError, undefined, Fermi

Joyce, Suhani, Throws a TypeError, Fermi

 

 

Q4:  
Given the following HTML and JavaScript:

  anotherObj.greet();

  globalGreet();

  boundGreet();

<!DOCTYPE html>

<html lang="en">

<head>

  <title>Simple DOM Question</title>

</head>

<body>

  <h1 id="title">Hello, World!</h1>

  <button id="changeText">Change Text</button>

  <script>

    const title = document.getElementById("title");
    const button = document.getElementById("changeText");

    button.addEventListener("click", function () {



What will the DOM tree look like after the button is clicked?

 

Options:

 

      title.textContent = "Text Changed!";
    });
  </script>

</body>

</html>





 

Option D:  No change to the DOM tree.

 

 

Option B is the right answer.
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